2
k. (1) C: %-‘r =1, #a*=9, b*==, ¢ =%, Ha=3, b:c=%\/§......2

o o<,

WA C %K 20 = 34/2 3

e 2
a

(1) FE1: G5 |TP|<|TM |.
ML R, [ix=1, |TP|=0<|TM |=2 N 2
PRI, WEA: y=k(x—1), M(x,)). N(x,,),)

2 2
VA=Y wmm, (& + 1) —4Kx 42k —9=0
yv=k(x-1)

A=(4k*) —4Q2K> +1)(2k* —9) =64k +36 >0

4k’ 2k* -9
E&xl+x2=m, x1x2=m ................. 9§J\

PM -PN
=(x, —=2)(x,=2)+ n,
= (o, = 2)(x, = 2)+ k&% (x, = 1)(x, — 1)

= (k> +D)xx, — (K> +2)(x, +x,) +k* +4

2k* -9 4k>
=(k*+1)- —(k*+2)- +k*+4
(e 2k +1 ( ) 2k% +1
2
=—6k2+5 <0 Rk B 5
2k7 +1

W ZMPN >90°, Bl& PYELL MN NERNBAN, W|TP|<|TM |
(1D Jik2: g5k |TP|<|TM |.
MEL RGN, [x=1, |[TP|=0<|TM |=2 Y &)

UL I RRATIEN, W y=k(x=1), M(x.0), N@uw), TGy

P



x*+2y*=9
yv=k(x-1)

A=(4k*) —4QK* +1)(2k* —9) =64k +36 >0

, B K +1D)x" -4k’ x+2k>-9=0

QR+ 4K 4k +9K +4

4k’ 2k* -9
E&xl+x2=m, x1x2=—2k2+1 ................. 9§J\
X —l(x er)——zk2 =k(x, -1)=- k
T 2 1 2 2k2+1’ yT T 2k2+1 .............
2k* k
TP =(x, -2 +y; =(——-2)" +(- 2=
TP =00 =2y +y7 = (5 =D+ 52 ) Ok 1)

1 1 1
(TMF =(GIMN D = 1 1), =x)" = (" +1) [(x+0)°" =4, |

1 4k*

= (€ +DI(5—) 4

2k =9, (K> +D(16k*> +9) 16k" +25k* +9

=

4 2k +1 2k% +1

16k* +25k+9  4k* +9k*> +4 12k* +16k* +5

By, |[TM P —|TPJ = - -

2k +1)° k> +1)°

2k +1) 2k +1)

5| TM | >| TP|

(k> +1Y?

2k> +1)



